®"

100

100

S3 a
S SCﬁQLTER_l—POL. EIN/EIN Ly
T FEDERLETSTE_ZWETIRETHIG_2X10 . _ T @ §
= 3 1 —_—
K1 1Co _OO® 2 C 3
T T S N
: . j L S ADMR3eeN 8 T <o . =
O N
- — - O 1 i ) SCHALTER_[FPOL. _ETIN/EIN N
5 S H E ’ o+ ° @ " HY 16 1y v 0
6 - i — L § — 1cs =2 5=
7 i I & =\® ’ TS J 15 O
G & ) I E O | A o 22—
g &l ' [ AN T20Th ¢
- 0 | 0 T | e
0 7 ) _ ' —R1IN  R10UT |
0 T_ —ROTN  R2OUT
m &
I g1+ 9233N\ID
] ! @V+
[
- D_|
0 L
— P2. 07D o P2. 0/A8 [ D )|
=] Pe. 1/FDL P2. 1/A9 [ Sy
—] PO. 2/A02 P2. 2/A10 [ g%
—] P. 3/A03 P2. 3/A11 [ v‘l C
— Fo. wenn P2. /12 b= N - Q
—{ P@. 5/FD5 P2.5/A13 | & T TC2
—| Pa. 6/006 P2. 6/A1% o N O
KD L4 3 GND
— = Fe. 7/7D7 P2. 7/R15 T * OLR
TC3
FEDERLETSTE_ZWETRETHIG_2X10 RN [CLR
= OCo==R dmput
1 L =| PL ©/T2/XTALBL P33 0/RD 2 ! 6' §. . ! NC
2 12 = PL L/T2EX/SS\ P3. 1/T0 b= _.T_5
3 13 = PL 2/ECT P3. 2/INTON = - A A
; i = PL 3/0EX0 P3. 3/INTIN = [:I - CQ TOTX173
| PL w/oEXL P34/ TO = 2 o~ > Y 00
g i = PL 5/cEX2/MISO P3.5/T1 |= [:Im (%
7 7 ={ P1. 6/CEX3/5CK P3. B/WRN [ N |
8 3 5| PL 7/CEX+/MOST P3. 7/RIN I3 ! 2
) i)
0 2o 1O % — l\g
s e l— PI2. @/SCL {57 Iy
— xTALB2 PT2. 1/SDA [ Tcn
-1 xTeL2
=1 GND UT I = xTAL1 o l JouTeuT
[
OSZILLATOR{LYAMHH g PSENN |5 ¢ = GNDL
o ALE/PROGN 55~ aN 2 L ¢ +—V/CC
E e C\I_C[:I 1 T OND2
— 1 (] - N are = SSSE
& g —& ® _lH g © S
O | TORX173
[ & 1II;|
LI o
100N
[
K4
STIFTLEISTE _EINREIHIG |GERADE 2wk




